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e Please check that this question paper contaprinted pages2 Maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper confdlngiestions.

e Please write down the serial number of the question before attempting it.
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GEOGRAPHY (Theory)
T (Yiwa)

Time allowed : 3 Hours Maximum Marks : 70
fAeiRa g - 3 g2 Sfope 3 : 70

General Instructions :

() There arel9 general questions.

(i)  All questions are compulsory.

(i)  Marks for each question are indicated against it.

(iv) Question numberg to 10 are short answer questions carryitggmarks each.
Answer to each of these questions should not ex@@ecbrds.

(v) Question numberklto 15 are also short answer questions carryhgarks each.
Answer to each of these questions should not ext2eeavords.

(vi) Question number&6, 17and 18 are long answer questions 6fmarks each.
Answer to each of these questions should not exte@eavords.

(vii) Question no.19 contains test items of very short answer. It i$ aharks.

(viii) Outline maps of thevorld and India provided to you must be attached with your
answer book.

(ix) Use oftemplatesor stencilsfor drawing outline maps is allowed.
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Which approach in the study of human geography was followed by Lucian Febvre ?
Statetwo characteristics of this approach. 1+2=3

AT Y & AFIT & {0 T Sadd J o F=memy &1 SErer {61 ? 31 o=
o A FAuare & IwE g |

What is pastoral nomadism ? Statdats characteristics. 1+2=3

TAATE! YERYT R Fed & 7 THel WAR fasand JarEy |

Explain three factors which are responsible for the development of inland
waterways. 3x1=3

AT FAIRT & fom & fow Savert @9 ®Rel & AT HifT |

Distinguish between primary and secondary activities by stahiree points of

each. 3x1=3
Tt SR fadas aamt § yds & fe S T Hifg |

What is rainwater harvesting ? Statdotg main objectives. 1+2=3
YT A FIST [RY FEd & 7 THH UR U@ Sevd sy |

Why is agricultural productivity still low in India ? Writleree main reasons. 3x1=3

ARG H P IAEHAT T A B i & 2 A T HRO A |

Statetwo main characteristics of major seaports of India. NametaoyStates which
havetwo major ports. 2+Y2+15=3
IR % T9E FHE-IH b W g e aqEy | e @ et & T ey et e

@ IT ¢ |

In whatthree ways natural resources help humans ? Explain with suitable examples
from India. 3x1=3
Uit HEree fhd @ GO § AW & [0 98l & 7 WRA § SUgA Saledll ST

T HIT |

Draw or trace in your answer-book the outline map of India, with the help of map given on
page 3 and mark the following therein :

(9.1) Industrial region No. 3 with its name.
(9.2) Industrial region No. 5 with its name. 1+1+1=3
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For Blind Candidates only in lieu of Q. No. 9.
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Name the major industrial region in the State of Jharkhand.
How many major industrial regions are there in India ?
Which industrial region of India is famous for jute textiles ?
FREE T # Rad uk gE A gedsr @ AW fakaw
IRA § Ha b W@ AEid YT & 2
I T & [0 IRa F HE-A1 S 98T 9k © 2

3x1=3



10. Study the following map and answer the questions given below :
(10.1) Name the railway line shown in this map.
(10.2) In which country this railway line lies ?

(10.3) Name the two ocean coasts which are linked by this railway line. 3x1 =3
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For Blind Candidates only in lieu of Q. No. 10.

Haw gRedq vt @ g WL 9. 10 F 'E W)
(10.1) Name the famous seaport located on the south-west coast of Australia,
(10.2) Name the longest railway line in Australia.

Study the above table and answer the questions given below:
(13.1) What is the total length of North-South and East-West Corridors ?
(13.2) What is the completion target of these Corridors ?

(13.3) Name the four metropolitan cities of India which are to be connected by the
Golden Quadrilateral.

1+1+2=4

(10.3) Name the two terminal stations of the longest railway line of Australia. 3x1 = 3
(10.1) sreeferar & sfaor-ufad e W Rua ue gfie FEua @1 AW fafag |
(10.2) srEferar & qad @ I@HRT &1 AW faRaa |
(10.3) SrEforan & @99 @ WER & Afad R & & ReEl & 9w faRau
11. Explain anyour types of rural settlement patterns found in India. 4x1 =4
ARA § 9 S 9l A7 SfEqdl & 9redl & fhel WR YRR i R Hifid |
12. How does flexible production differ from flexible specialisation ? Explain with
examples of each. 2+2=4
ArIgRT SR, AEga [T § 6 UR B & 7 Ud® @ & SEET 9t
RAT Bl 5“|Q |
13. Development of Super Highways in India
Project Total Connecting Already Under Contracts Completion
length Completed | Implemen- to be Target
tation awarded for
Golden 5,846 Kms| Delhi-Mumbai-Chennai- 1,159 Kms.| 4,551 Kms| 136 Kms. Substantial
Quadrilateral Kolkata-Delhi completion
by Dec. 2003
North-South Srinagar to Kanyakumari
and 7,300 Kms|. 800 Kms. 688 Kms 5,812 Kms. Dec. 2007
East-West Silchar to Saurashtra
Corridors (Porbandar)
Connectivity to Kandla, Jawaharlal
10 major ports 363 Kms. Nehru, Mormugoa, 56 Kms. 113 Kms. 194 Kms. Dec. 2005%
Mangalore, Cochin,
Tuticorin, Chennai &
Ennore, Vishakhapatnam,
Paradip and Haldia
Others 653 Kms. 136 Kms. 179 Kms. 338 Kms. Dec. 2007



IR § @ ot W R

WRATT | FA - ot S W g | wEaa | R R miq;uwd
L0 o | W E N
@b 5,846fF . | Ref-gada=d- | 11507k | 4,551f%H1. | 136 f. fegwr,
gy FrAHTAT-feed 2003 &
S IEaN
®E [
ElLai]
TR-aRor AR ¥ FGT
3R 7,300 . 800 fmAT. | 688 Tk |5,812f%Hr. | ffawr, 2007
d-afRem R & Ay
FRIR (IReR)
10 W= Fizwl, @R @ | 56 fFAL | 113fRAL | 194 . | feaew, 2005
TR 363 fer.. e, Wi,
El Gﬁg‘Tf ‘i"ﬁh?, Eﬁﬁﬂ,
ghefa, ¥,
AR TR,
fsmET-,
IR qar e
I 653 .. 136 f. 1. 179f% . | 338fRHY. | feEww, 2007
TR G T AT HT STEFIT BT IR A U T gt & I o
(13.1) ITR-ERET R qE-Uieem HIRER & Ha awTs =T & ?
(13.2) =7 Tl PIRERT & AT BT & QT F FT T& T & 7
(13.3) WRA & B9 IR HEM & AW faiae S @i aqqs § Sis S |
14. Describe anjour sources of air pollution in India. 4x1 = 4

IRA § a1 9qUO & fohel WR Hidl @l ao i |

15. Study the diagram given on page 7 and answer the following questions :

(15.1) Name the country with which both the import and export of the U.S.A. are

lowest.

(15.2) How much is the total value of trade of the U.S.A. with Western Europe ?

(15.3) How much is the value of imports of the U.S.A. from Japan ?



(15.4) What is the balance of trade of the U.S.A. with Canada ? 4x1 = 4
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For Blind Candidates only in lieu of Q. No. 15.
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(15.1) What situation arises if exports exceed imports ?

(15.2) What is balance of trade ?

(15.3) What is negative balance of trade ?

(15.4) What is the meaning of bilateral trade ? 4x1 = 4

(15.1) afe foafa, mana & sifes & S o @ Rafa awdr & 2
(15.2) MR a<qad 4 Faed & ?

(15.3) fadim =R a=qa fhe &ed & ?

(15.4) fzuefim =R fFy @ed § 2




16.

17.

18.

19.

Describe in briefijve different types of areas of low density of population in the world.
5x1=5

HOR § F6En & 9 a9 a Wi s yeR & &9 @1 §849 § aue Sy |

Explain the term ‘Human Development’. Why is Human Development necessary ? Give

four reasons. 1+4=5

qrg e 9= B T BT | 9T fOme w1 e & 2 AR SR & |

What are the ‘squatter settlements’ and ‘slums’ ? Dedtwibe main characteristics of
squatter settlements. 2+3=5

TQrearetl @1 v it |

(19.1) In the given outline map of the world four features are shown as A, B, C and D.
Identify them with the help of map legend and write their correct names on the
dotted lines given in the map. 4Ax1Ho=2

(19.2) On the outline political map of India provided to you, locate and label the
following with appropriate symbols :
() Anuclear power plant in Tamil Nadu.
() One major seaport in Karnataka.
(i) A statewhere Telugu is mainly spoken. 3x1=3

(19.1) ¥R % U 70 @AW § 9 @& A, B, C 3fk D fR@m wuw 2| aEfs &
il B FEEAT § e TedIU 3R " | & T8 @ied W@rell W &l & qel
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(19.2) smUen! faU MU 9RA & Aot @AM § fefaiaa o Rafa suga o=
BRI 390ET ¢
() dafrerg § Rud U WA Fai G |
(i) @Hleh T ThH THE GO |
(i) TH TF SEf qqY e diel S o |

For Blind Students only in lieu of Q. No. 19.
Faw ghedi wdenffat # R w. 9. 19 3 =W W)

(19.1) Name the East Asian country famous for tea production.

(19.2) Name the smallest ocean of the world.

(19.3) Which is the famous nuclear energy plant in Tamil Nadu ?

(19.4) Name one major seaport in Karnataka.

(19.5) In which state of India Telugu is mainly spoken ? 5x1 =5

(19.1) ydt ufyrm & us I &1 9 fafaw FF 9@ & Ided & fou afag 2
(19.2) 99X & 999 Bl ASMNR & A {ofiay |

(19.3) AfHeTs ¥ UH IS T Soft G4 HiF a1 § ?

(19.4) FAfed & TH Y@ TA BT 919 [aEg |

(19.5) 9Rd & e T § AT THEd: Al AT & 7
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